7.2 Let f(x) be a primitive irreducible polynomial of degree n over
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Prove your assertion.

Hint: Do some experimentation for small values of n. Please can you write this experimentation?
Please explain this problem step by step, and then I won’t to send back the problem again to explain it with more details. Thank you.
Please Ota Yupei, Xion you are very good and I like hhow you sole the problems but the last time you solve a problem with a mistake, I have fixed that already.

I can understand some time happened this, but please be careful this time, thank you.
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